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QUESTION 1

If a car is towed 12 miles to the repair shop, and the tow charge is $3.50 per mile, how much did the tow cost?
A. $12.00

B. $3.50

C. $42.00

D. $100.00

Correct Answer: C

QUESTION 2

Dinner at a nice restaurant cost $35.98.

If Joan gave the cashier $40.00, how much change should she get back?
A. $5.02

B. $4.02

C. $3.92

D. $1.02

Correct Answer: B

QUESTION 3

There are 78 female and 54 male patrons at a local diner. What percentage of the diner\\'s patrons are female?
A. 37%

B. 41%

C.52%

D. 59%

E. 67%

Correct Answer: D

QUESTION 4

A triangle has two equal sides. The third side has a length of 13 feet, 2 inches.
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If the perimeter of the triangle is 40 feet, what is the length of one of the equal sides?
A. 13 feet, 4 inches

B. 26 feet, 10 inches

C. 13 feet, 11 inches

D. 13 feet, 5 inches

Correct Answer: D

QUESTION 5

A 55-gallon drum of oil is going to be used to fill cans that hold 2 quarts each. How many cans can be filled from the
drum?

A. 55

B. 27%
C. 110
D. 220

Correct Answer: C
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